I’ve marked the questions you should be able to do without your calculator in RED.

Math 21   Exam 2  (Chapters 9 & 10)   
Name _______________________________________

Always show enough work to indicate how you arrived at your answer.  If work is not shown, you may not get full credit for the problem.
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1. 
The slope field for the differential equation 
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 is shown below.  


a.
Draw and label the solution curve for the 



initial-value problem with y (–2) = 2.


b.
Draw and label the solution curve for the 




initial-value problem with y (–1) = –1 on the same graph.

2.  
a.
Fill in the chart and then use the information to draw that part of the slope field for 
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b.
Use Euler’s method to estimate 
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.  Start with the initial



point (–2, 0), and use step size 0.5.  Sketch the graph of y that 



results from using Euler’s method.
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c.
VERIFY that 
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 is the solution to the initial-value problem 
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3.
Consider the IVP 
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a.
Use Euler’s method with ten subdivisions to estimate 
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b.
Circle the function which is the exact solution to the IVP 
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4.
Find the solution for the separable IVP 
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5.
a.
Sketch the graph of the curve
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Label to points for: 




[image: image21.wmf]0

t

=





[image: image22.wmf]1

t

=





[image: image23.wmf]5

t

=





[image: image24.wmf]10

t

=



b.
Find the SLOPE of the curve at 
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c.
Find the LENGTH of the curve  from 
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 to 
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.

d.
Find the SURFACE AREA when the curve from 
[image: image28.wmf]0

t

=

 to 
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.is revolved about the x-axis.

6.
Complete the following chart relating polar and rectangular coordinates.

	Polar
	(1, (/2)
	(-1, ()
	
	

	Rect.
	
	
	(1,
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7.
Given these values, sketch the graph of 
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8.
a.
Sketch the graph of 
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.  Label the graph with appropriate units.



b.

Label the following points on your graph:    A.  
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B.  
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c.
This graph goes through the pole.  Give three different pairs of polar coordinates that identify when the graph passes through the pole.


d.
Find the slope of the line tangent to the graph at the point 
[image: image50.wmf](2,/3)
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.  Draw the tangent line on your graph.


e.

SET UP the integral that could be used to find the area of the inside loop.  

� EMBED Word.Picture.6  ���





 1

















_1252981291.unknown

_1298890376.unknown

_1299310870.unknown

_1299311149.unknown

_1299393106.unknown

_1299393055.unknown

_1299311141.unknown

_1299310374.unknown

_1299310835.unknown

_1298955496.unknown

_1298889376.unknown

_1298889378.unknown

_1298889372.unknown

_1252981348.unknown

_1252982272.unknown

_1258366284.unknown

_1252982257.unknown

_1252981329.unknown

_1226908923.unknown

_1226909464.unknown

_1226909634.unknown

_1226909734.unknown

_1226910365.unknown

_1252981108.unknown

_1226910335.unknown

_1226909732.unknown

_1226909733.unknown

_1226909640.unknown

_1226909544.unknown

_1226909633.unknown

_1226909370.unknown

_1226909378.unknown

_1226909463.unknown

_1226909162.unknown

_1132038783.unknown

_1219488076.unknown

_1226908889.unknown

_1219488050.unknown

_1132038803.unknown

_1132038745.unknown

_1132038759.unknown

_1068965557.unknown

_1130820894.unknown

_1132031914.unknown

_1068965558.unknown

_1068965556.unknown

_986803364.doc
��������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������������



-3







-2







-1







0







1







2







3







y







-3







-2







-1







1







2







3







t
















